Filomat 29:10 (2015), 2275–2280 DOI 10.2298/FIL1510275S



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

Conditions for the Equivalence of Power Series and Discrete Power Series Methods of Summability

Sefa Anıl Sezer^{a,b}, İbrahim Çanak^b

^aİstanbul Medeniyet University, Department of Mathematics, 34720 İstanbul, Turkey ^bEge University, Department of Mathematics, 35100 İzmir, Turkey

Abstract. Discrete power series methods were introduced and their regularity results were developed by Watson [Analysis (Munich), **18**(1): 97–102, 1998]. It was shown by Watson that discrete power series method (P_{λ}) strictly includes corresponding power series method (P). In the present work we present theorems showing when (P_{λ}) and (P) are equivalent methods and when two discrete power series methods are equivalent.

1. Introduction

Let $\sum_{n=0}^{\infty} a_n$ be a series of real or complex numbers and (s_n) be its corresponding sequence of partial sums. Let (p_n) be a sequence of nonnegative numbers with $p_0 > 0$ such that

$$P_n := \sum_{k=0}^n p_k \to \infty, \ n \to \infty.$$
⁽¹⁾

Assume that the power series

$$p(x) := \sum_{k=0}^{\infty} p_k x^k \tag{2}$$

has radius of convergence ρ and define

$$t_n := \sum_{k=1}^n P_{k-1} a_k.$$
(3)

The sequence (λ_n) is a strictly increasing sequence of real numbers such that $\lambda_0 \ge 1$ and $\lambda_n \to \infty$ as $n \to \infty$.

- Received: 28 July 2014; Accepted: 26 November 2014
- Communicated by Dragana Cvetković-Ilić

²⁰¹⁰ Mathematics Subject Classification. Primary 40D25; Secondary 40G10

Keywords. Equivalence theorems, power series methods, discrete power series methods

Email addresses: sefaanil.sezer@medeniyet.edu.tr, sefaanilsezer@gmail.com (Sefa Anul Sezer), ibrahimcanak@yahoo.com, ibrahim.canak@ege.edu.tr (İbrahim Çanak)

Definition 1.1. If $\sigma_n := \frac{1}{P_n} \sum_{k=0}^n p_k s_k \to s \text{ as } n \to \infty$, then we say that (s_n) is summable to s by the weighted mean method (M_p) and write $(s_n) \to s(M_p)$.

Definition 1.2. Suppose that $p_s(x) := \frac{1}{p(x)} \sum_{k=0}^{\infty} p_k s_k x^k$ exists for each $x \in (0, \rho)$. If $\lim_{x \to \rho^-} p_s(x) = s$, then we say that (s_n) is summable to s by the power series method (P) and write $(s_n) \to s(P)$.

In the literature, the weighted mean method and the power series method are called the method (M_p) and the method (P), respectively. The summability methods (M_p) and (P) were studied by a number of authors such as Móricz and Rhoades [13], Móricz and Stadtmüller [14] and Kratz and Stadtmüller [9, 10]. Recently, Çanak and Totur [4–6], Totur and Çanak [16], Erdem and Totur [7] and Totur and Dik [17] have proved some Tauberian theorems for the methods (M_p) and (P).

The weighted mean method of summability is regular if and only if (1) is satisfied. The basic regularity results for the power series method were summarized by Borwein [3] and his result recalled here.

Theorem 1.3. ([3])

- (1) If $0 < \rho < \infty$, then the method (P) is regular if and only if $\sum_{k=0}^{\infty} p_k \rho^k = \infty$.
- (2) If $\rho = \infty$, then the method (P) is regular.

Furthermore, Ishuguro [8] proved that (M_p) implies (P). If $p_n = 1$ for all nonnegative integer n, then corresponding weighted mean and power series summability methods reduce to Cesàro (C, 1) and Abel (A) summability methods, respectively. For Abel summability, $p(x) = \frac{1}{1-x}$, $\rho = 1$ and $p_s(x) = (1-x) \sum_{k=0}^{\infty} s_k x^k$. For Borel summability, $p_k = \frac{1}{k!}$, $p(x) = e^x$, $\rho = \infty$ and $p_s(x) = e^{-x} \sum_{k=0}^{\infty} \frac{s_k}{k!} x^k$.

Discrete summability methods were first introduced by Armitage and Maddox. Armitage and Maddox defined discrete methods corresponding to (C, 1) and (A) in [1] and [2] and later Maddox [11, 12] established Tauberian results relating discrete Abel means. Moreover, discrete methods corresponding to the methods (M_p) and (P) were defined by Watson [18, 19] as follows.

Set

$$x_n := \begin{cases} \rho \left(1 - \frac{1}{\lambda_n} \right) & \text{if } 0 < \rho < \infty \\ \lambda_n & \text{if } \rho = \infty. \end{cases}$$

Definition 1.4. We say that (s_n) is summable to s by the discrete weighted mean method, $(M_{P_{\lambda}})$, and write $(s_n) \rightarrow s(M_{P_{\lambda}})$ if $\tau_n := \sigma_{[\lambda_n]} = \frac{1}{P_{[\lambda_n]}} \sum_{k=0}^{[\lambda_n]} p_k s_k \rightarrow s$ as $n \rightarrow \infty$, where $[\lambda_n]$ denotes the integer part of λ_n .

Definition 1.5. Suppose that $p_s(x_n)$ exists for each $n \ge 0$. If $p_s(x_n) := (P_\lambda s)_n \to s$ as $n \to \infty$, then we say that (s_n) is summable to s by the discrete power series method (P_λ) and we write $(s_n) \to s(P_\lambda)$.

In [20] and [21], Watson also proved some Tauberian theorems for the methods $(M_{P_{\lambda}})$ and (P_{λ}) . Note that, trivially, $(M_{P_{\lambda}})$ includes (M_p) and (P_{λ}) includes (P) in the sense that $(s_n) \to s(M_p)$ or $(s_n) \to s(P)$ implies $(s_n) \to s(M_{P_{\lambda}})$ or $(s_n) \to s(P_{\lambda})$, respectively. Eventually, the methods $(M_{P_{\lambda}})$ and (P_{λ}) inherit regularity from the underlying methods (M_p) or (P).

The aim of this paper is to present equivalence relations between both (P_{λ}) and (P) and two discrete power series methods.

2. Auxilary Results

We require following lemmas for the proofs of the theorems in the next section.

Lemma 2.1. The identity

$$t_n = \sum_{k=0}^n p_k (s_n - s_k)$$
(4)

is valid.

Proof. By (3), we have

$$t_n = \sum_{k=1}^n P_{k-1}a_k$$

= $p_0a_1 + (p_0 + p_1)a_2 + \dots + (p_0 + p_1 + \dots + p_{n-2})a_{n-1} + (p_0 + p_1 + \dots + p_{n-1})a_n$
= $p_0(a_1 + a_2 + \dots + a_n) + p_1(a_2 + a_3 + \dots + a_n) + \dots + p_{n-2}(a_{n-1} + a_n) + p_{n-1}a_n$
= $p_0(s_n - s_0) + p_1(s_n - s_1) + \dots + p_{n-2}(s_n - s_{n-2}) + p_{n-1}(s_n - s_{n-1})$
= $\sum_{k=0}^n p_k(s_n - s_k).$

Lemma 2.2. The identity

$$\frac{1}{p(x)}\sum_{k=0}^{\infty} p_k s_k x^k = \sum_{k=0}^{\infty} p_k a_k x^k$$
(5)

holds if and only if

$$p_0 = 1, \quad p_n = p_1^n \quad (n \ge 1)$$
 (6)

Proof. By simple calculations, it is easy to show that the identity (5) holds if and only if $\sum_{v=0}^{k} p_v p_{k-v} a_v = p_k \sum_{v=0}^{k} a_v$ for all $k \ge 0$. Thus, (5) holds for each sequence (a_k) if and only if $p_k = p_v p_{k-v}$ for all $0 \le v \le k$. Since $p_0 \ne 0$, this yields $p_0 = 1$ and $p_n = p_1^n$ for all $n \ge 1$. \Box

In addition, to ensure the convergence of p(x) we must choose $\rho = \frac{1}{p_1}$, that is, $p(x) = \frac{1}{1 - p_1 x}$. In this case the regularity condition (1) in Theorem 1.3 is also satisfied.

In the remainder of this paper we assume that $p_0 = 1$, $p_n = p_1^n$ for every positive integers n and $\rho = \frac{1}{p_1}$.

Lemma 2.3. If $\sum_{k=0}^{\infty} p_k a_k x^k$ converges for all $x \in (0, \rho)$, then

$$\sum_{k=1}^{\infty} p_k a_k x^k = \sum_{k=1}^{\infty} t_k \Delta\left(\frac{p_k x^k}{P_{k-1}}\right) \quad (0 < x < \rho).$$

Proof. We have

$$\sum_{k=1}^{n} p_k a_k x^k = \sum_{k=1}^{n} P_{k-1} a_k \left(\frac{p_k x^k}{P_{k-1}} \right).$$

Applying Abel's partial summation formula, we get

$$\sum_{k=1}^{n} p_k a_k x^k = \frac{p_n x^n}{P_{n-1}} t_n + \sum_{k=1}^{n-1} t_k \Delta\left(\frac{p_k x^k}{P_{k-1}}\right).$$

Hence it is enough to show that $p_n x^n t_n = o(P_{n-1})$ for $x \in (0, \rho)$. Fix $x \in (0, \rho)$ and choose $y \in (x, \rho)$. Since $\sum_{k=0}^{\infty} p_k a_k y^k$ converges, $|p_k a_k y^k| \le M$ for $k \ge 1$. Therefore

$$\begin{aligned} \left| p_{n}x^{n}t_{n} \right| &\leq p_{n}x^{n}\sum_{k=1}^{n}P_{k-1}\left|a_{k}\right| \\ &\leq p_{n}x^{n}\sum_{k=1}^{n}P_{k-1}My^{-k}p_{k}^{-1} \\ &\leq p_{n}MP_{n-1}x^{n}\sum_{k=1}^{n}(p_{1}y)^{-k} \\ &= p_{n}MP_{n-1}x^{n}\frac{(p_{1}y)^{-n}-1}{1-p_{1}y} \\ &\leq P_{n-1}M\frac{(x/y)^{n}}{1-p_{1}y} \\ &= o(P_{n-1}). \end{aligned}$$

Lemma 2.4. If (s_n) is a bounded sequence, then $t_n = O(P_n)$.

Proof. Suppose that (s_n) is bounded. By (4),

$$\begin{aligned} |t_n| &= \left| \sum_{k=0}^n p_k (s_n - s_k) \right| &= \left| s_n \sum_{k=0}^n p_k - \sum_{k=0}^n p_k s_k \right| \\ &\leq |s_n| \sum_{k=0}^n p_k + \sum_{k=0}^n p_k |s_k| \\ &\leq M \sum_{k=0}^n p_k + M \sum_{k=0}^n p_k \\ &= O(P_n). \end{aligned}$$

3. Equivalance Results

.

Theorem 3.1. *If the condition*

$$\lim_{n \to \infty} \frac{\lambda_{n+1}}{\lambda_n} = 1 \tag{7}$$

is satisfied, then the method (P_{λ}) is equivalent to the method (P) for bounded sequences.

2278

Proof. Note that, trivially, (P_{λ}) includes (P) in the sense that $(s_n) \to L(P)$ implies $(s_n) \to L(P_{\lambda})$. Let (s_n) be (P_{λ}) summable to *L* and let $x_n = \rho \left(1 - \frac{1}{\lambda_n}\right)$. Then, for a given $x \in (x_0, \rho)$, there exists an *n* such that $x_n \le x \le x_{n+1}$. By Lemma 2.2,

$$\begin{aligned} |p_{s}(x) - (P_{\lambda}s)_{n}| &= \left| \frac{1}{p(x)} \sum_{k=0}^{\infty} p_{k}s_{k}x^{k} - \frac{1}{p(x_{n})} \sum_{k=0}^{\infty} p_{k}s_{k}x_{n}^{k} \right| \\ &= \left| \sum_{k=0}^{\infty} p_{k}a_{k}x^{k} - \sum_{k=0}^{\infty} p_{k}a_{k}x_{n}^{k} \right|. \end{aligned}$$

By Lemma 2.3, we get the following

$$\begin{aligned} \left| p_{s}(x) - (P_{\lambda}s)_{n} \right| &= \left| \sum_{k=1}^{\infty} t_{k} \Delta \left(\frac{p_{k}x^{k}}{P_{k-1}} \right) - \sum_{k=1}^{\infty} t_{k} \Delta \left(\frac{p_{k}x_{n}^{k}}{P_{k-1}} \right) \right| \\ &= \left| \sum_{k=1}^{\infty} t_{k} \int_{x_{n}}^{x} k \frac{p_{k}}{P_{k-1}} t^{k-1} - (k+1) \frac{p_{k+1}}{P_{k}} t^{k} dt \right| \\ &\leq \sum_{k=1}^{\infty} |t_{k}| \int_{x_{n}}^{x_{n+1}} \left| k \frac{p_{k}}{P_{k-1}} t^{k-1} - (k+1) \frac{p_{k+1}}{P_{k}} t^{k} \right| dt. \end{aligned}$$

By Lemma 2.4, we have $t_n = O(P_n)$. Hence

$$\begin{aligned} \left| p_{s}(x) - (P_{\lambda}s)_{n} \right| &= O(1) \sum_{k=1}^{\infty} P_{k} \int_{x_{n}}^{x_{n+1}} \left| k \frac{p_{k}}{P_{k-1}} - (k+1) \frac{p_{k+1}}{P_{k}} t \right| t^{k-1} dt \\ &= O(1) \int_{x_{n}}^{x_{n+1}} \sum_{k=1}^{\infty} \left| k \frac{p_{k}}{P_{k-1}} - (k+1) \frac{p_{k+1}}{P_{k}} t \right| P_{k} t^{k-1} dt \\ &= O(1) \int_{x_{n}}^{x_{n+1}} \sum_{k=1}^{\infty} \left| k p_{1}^{k} - (k+1) p_{1}^{k+1} t \right| t^{k-1} dt \\ &= O(1) \int_{x_{n}}^{x_{n+1}} \sum_{k=1}^{\infty} k p_{1}^{k-1} \left| p_{1} - \frac{k+1}{k} p_{1}^{2} t \right| t^{k-1} dt \\ &= O(1) \int_{x_{n}}^{x_{n+1}} (1-p_{1}t) \sum_{k=1}^{\infty} k p_{1}^{k-1} t^{k-1} dt \\ &= O(1) \int_{x_{n}}^{x_{n+1}} (1-p_{1}t) \frac{1}{(1-p_{1}t)^{2}} dt \\ &= O(1) \int_{x_{n}}^{x_{n+1}} \frac{1}{1-p_{1}t} dt \\ &= O(1) \log \left(\frac{1-p_{1}x_{n}}{1-p_{1}x_{n+1}} \right) \end{aligned}$$

S. A. Sezer, İ. Çanak / Filomat 29:10 (2015), 2275–2280

$$= O(1) \log \left(\frac{\lambda_{n+1}}{\lambda_n}\right)$$
$$= O(1)o(1)$$
$$= o(1).$$

Since $(P_{\lambda}s)_n \to L$, it now follows that $p_s(x) \to L(x \to \rho^-)$. That is, (s_n) is summable to L by the method (P). Therefore, the method (P_{λ}) is equivalent to the method (P) for bounded sequences. \Box

Note that Theorem 3.1 for $p_n = 1$ for all nonnegative integer *n* was proved in [15].

Remark. Let λ and μ be strictly increasing sequence of real numbers such that $\lambda_0 \ge 1$, $\mu_0 \ge 1$, $\lambda_n \to \infty$, $\mu_n \to \infty$, $\lim_{n\to\infty} \frac{\lambda_{n+1}}{\lambda_n} = 1$, $\lim_{n\to\infty} \frac{\mu_{n+1}}{\mu_n} = 1$ as $n \to \infty$. We deduce from Theorem 3.1 that discrete power series methods (P_{λ}) , (P_{μ}) and the power series method (P) are all equivalent for bounded sequences.

Acknowledgments The authors thank the anonymous referee for many constructive comments and helpful suggestions.

References

- [1] D. H. Armitage and I. J. Maddox. A new type of Cesàro mean. Analysis, 9(1-2):195–206, 1989.
- [2] D. H. Armitage and I. J. Maddox. Discrete Abel means. Analysis, 10(2-3):177–186, 1990.
- [3] D. Borwein. On methods of summability based on power series. *Proc. Roy. Soc. Edinburgh. Sect. A.*, **64**:342–349, 1957.
- [4] İ. Çanak and Ü. Totur. Some Tauberian theorems for the weighted mean methods of summability. Comput. Math. Appl., 62(6):2609–2615, 2011.
- [5] İ. Çanak and Ü. Totur. Tauberian theorems for the (J, p) summability method. *Appl. Math. Lett.*, **25**(10):1430–1434, 2012.
- [6] İ. Çanak and Ü. Totur. Extended Tauberian theorem for the weighted mean method of summability. Ukrainian Math. J., 65(7):1032–1041, 2013.
- [7] Y. Erdem and Ü. Totur. Some Tauberian theorems for the product method of Borel and Cesàro summability. Comput. Math. Appl., 64(9):2871–2876, 2012.
- [8] K. Ishiguro. A Tauberian theorem for (*J*, *p*_n) summability. *Proc. Japan Acad.*, **40**:807–812, 1964.
- [9] W. Kratz and U. Stadtmüller. Tauberian theorems for J_p-summability. J. Math. Anal. Appl., **139**(2):362–371, 1989.
- [10] W. Kratz and U. Stadtmüller. O-Tauberian theorems for J_p-methods with rapidly increasing weights. J. London Math. Soc. (2), 41(3):489–502, 1990.
- [11] I. J. Maddox. Tauberian theorems for some classes of discrete Abel means. Rad. Mat., 6(2):273–278, 1990.
- [12] I. J. Maddox. A Tauberian theorem for discrete Abel means. Indian J. Math., 33(1):7–10, 1991.
- [13] F. Móricz and B. E. Rhoades. Necessary and sufficient Tauberian conditions for certain weighted mean methods of summability. II. Acta Math. Hungar., 102(4):279–285, 2004.
- [14] F. Móricz and U. Štadtmüller. Characterization of the convergence of weighted averages of sequences and functions. *Period. Math. Hungar.*, 65(1):135–145, 2012.
- [15] J. A. Osikiewicz. Equivalence results for discrete Abel means. Int. J. Math. Math. Sci., 30(12):727-731, 2002.
- [16] Ü. Totur and İ. Çanak. Some general Tauberian conditions for the weighted mean summability method. Comput. Math. Appl., 63(5):999–1006, 2012.
- [17] Ü. Totur and M. Dik. One-sided Tauberian conditions for a general summability method. Math. Comput. Modelling, 54(11-12):2639–2644, 2011.
- [18] B. Watson. Discrete power series methods. Analysis (Munich), 18(1):97-102, 1998.
- [19] B. Watson. Discrete weighted mean methods. Indian J. Pure Appl. Math., 30(12):1223-1227, 1999.
- [20] B. Watson. A Tauberian theorem for discrete power series methods. Analysis (Munich), 22(4):361–365, 2002.
- [21] B. Watson. A Tauberian theorem for discrete weighted mean methods. Analysis (Munich), 26(4):463–470, 2006.